Paper: B.E_B.Tech
Set Name: |Item33
Exam Date: | 28 July 2022
Exam Shift: | 1
Langauge: | Marathi
Topic: Mathematics-Section A
Iltem No: 1
Question
D- 100601
Question
Type: MCQ
BEEl xdy=(,/x2+yz+y)dx,x >0, 71 forerersr GHISHLOTEN o5 SUETO Sehel x = 1 91 el y
Question:
=0 30T x =2 W el y = o FY BIA 3R, W o 9 A .
A: l
2
B: E
2
C: — E
2
D: E
2
Topic: Mathematics-Section A
Item No: 2
QL_Jestion 100602
ID:
Question
Type: MCQ
. . 1 x2—Ax+2
_ o1& Brenivfadt weren we qed qedi= R #3, f(x)=cos™ | —5——| A1 HeI™
Question: 1% 43
afyes &R
A:




B: |:—lJr m)
4
o (W
D: [—.;_*;.;3.1r 1:‘
3
Topic: Mathematics-Section A
Item No: 3
Question
D: 100603
Question
Type: MCQ
— M AN 2 M FAN A — M AN
astt a=(1+t)i+(1-t)j+k, b=(1-t)i +(1+t)j+2k M e = ti—tj+k,teR T afew
Question: S5 3 ) )
3R, S o, B, y € R AT aa+ Bb+yc=0=a=p=y=0 W t = ¥4 o=l T4
3.
A e 9T wid §9
B: N IR
c: R — {0} SR
D: R a8
Topic: Mathematics-Section A
Item No: 4
Question
D 100604
Question
Type: MCQ
Question: & PRIt Feti=a g8 Jedi=n for=m &, cos ~ L(x) — 2sin ~ 1(x) = cos ~ 1(2x) 1 FHIRIOT=AT
| gd Il SIS SR .
A: 0
B: 1




C: l

2
D: _l
Topic: Mathematics-Section A
Iltem No: 5
Question
D- 100605
Question
Type: MCQ
Question: FAST 36201, © € (A, v}, TR (prq)@(p © ~q) & 3TTAT AR, W (+, ©) A HETSMET

R,
A: (‘v’, ,-"\)
B: (V, V)
C: (A, A)
D: (A, V)
Topic: Mathematics-Section A
Iltem No: 6
Question
D- 100606
Question
Type: MCQ

TS , A1 AU Wi 9 ST, AN Wew b, ST S F IAF (x, ) e Rx R - {(0, 0)} T,
Question: Ly )

— — — — .

(xa+yb) & dfew (6ya—18xb) ™1 gfeonen &a o, W [aXblsEr_ ew
A 9.3
B: 273
C: g
D: 81




Topic:

Mathematics-Section A

Iltem No: 7
Question
ID: 100607
Question
Type: MCQ
te (0, 2) |, ST ABC & A ekl 7 @ fBRIfdg A(sint, — cost), B(cost, sint) 37101
- — 1 et
Question: C(a, b) T 3T TH i TN ASTHIIT (1, ) T FEfAG STHI TR e, T (a” — b?) TR
-
A: g
)
B: 8
C: E
9
D: ﬂ]_
9
Topic: Mathematics-Section A
Iltem No: 8
Question
D: 100608
Question
Type: MCQ
, a e N T, N i@ R =1 ey faam &7, R = {(x, y) : 3x+ay § 7 =91 9200 378}, T4 R 7
Question: ..
A Ha¥ AR, S AT Ferd 5K
A o =14
B: o T 4 <A 92Id AR
C: SISl o T 10 A {NTel 3Tl Sieht 4 Id
D: Se@l o A1 7 A {FTA 379l dihl 4 3d
Topic: Mathematics-Section A

Iltem No:

9




Question

D 100609
Questi
T;Jpees: on MCQ
o1 fiEd 60% & SHEER nfor 40% TE9 IHSER I 37ed, ! 60% SHEAR U FIel.
Question: | TTamEA 1 IHTAR T FvAr Hewm g IEY TR T SvAr Hee ge e,
IHSIRMYT Agfeddh 901 ISR fHagen #118. @ fHagden hear g f& Ihganr srugr=i
ezl T,
A: E
4
B: 1_1_
16
C: ﬁ
32
D: E
16
Topic: Mathematics-Section A
Item No: 10
Question | 490610
Questi
T;Jpees: on MCQ
Wy =y(x), x e (0, m/2) 7 (sﬁnz2x)%+(85in22x+2sin4x)y=2e‘4x(2sin2x+coszx) 2l
Question:
N S w9 adiHT S s, s y(m/4)=e T W, T y(w/6) TR
N ||
2 o3
A: —e
J3
2 g3
B: —¢
J3
c. 23

NG




1 o3

D: —p
J3
Topic: Mathematics-Section A
Iltem No: 11
Question | 490611
Questi
T;Jpees: on MCQ
| g2 =23 A s 9t Poafor Q A1 foigd sheeied wf¥ieRt R0, 1) A1 gyt wedd, @
Question: L
f5@rTo1 PQR =1 SerEumd 3R,
A: 0, 1)
B: (2, —1)
C: (6, 3)
D: 2, 1)
Topic: Mathematics-Section A
Iltem No: 12
Question | 190612
Questi
T;Jpees: on MCQ
T 22 4P x+2y =5 T T C @ FEf N A P 7 g A . T C
Question:
wesen feig HyA <M, CPm‘{ﬁ‘QﬁE =1 %A T AT Fgesre Q M0 R =11 foigd wed. @ =k PQR
9 %3 ((THH)2 /) 3R
A: 2
B: 2.\]5
C: 35]'1-,(E}
8
D:




Topic: Mathematics-Section A

Iltem No: 13

Question ID: 100613

Question Type: | MCQ

Question: Sl 72022 432022 &1 5 F fquifSid el 3THdT ekl TR,
A 0

B: 2

C 3

D: 4

Topic: Mathematics-Section A

Item No: 14

Question

D- 100614

Question
Type: MCQ

01 0

gHST RO A=|0 0 1| &1fo1 9RO By=A%2+2A%, ST B =Adj(B,_,) @9
Question: 10 0

n >1 W&, W det(B,) IR 3.
A: 323
B: 33{]
C: 332
D: 336
Topic: Mathematics-Section A
Item No: 15
Question | 400615

Question
Type: MCQ




g 59 = {Zl e C: |Z1 —3{=%] 3TfoT 52 e {22 e C: |22 — |22+ 1H=|22 + |22— 1”} GES

Question:
z1 €Sy M 2, € S, TR, |20— 21| = AITH A 3R,
A: 0
B: l
2
C: E
2
D: E
2
Topic: Mathematics-Section A
Item No: 16
Question 100616
Questi
T;Jpees: 1on MCQ
Question: 2+y2=1,z=0 A Gg@Eda f6OgUEA 2x+3y +2z = 6 AT Tdell A cAaT=1 TR Wieiedeht
| e U e fed eie ?
A: (6x+5y—12)2+4(3x+7y—8)2=1, z=6—2x —3y
B: (5x +6y—12)2+4(3x+5y—9)2=1, z=6—2x -3y
C: (6x+5y—14)2+9(3x +5y—7)2=1, z=6—2x — 3y
D: (5x+ 6y —14)2+9(3x + 7y —8)2=1, z=6—2x — 3y
Topic: Mathematics-Section A
Item No: 17
Question ID: | 100617
Questi
T;Jpees: ion MCQ
Question: 5¢% | o

S f(x)=7+x—5,x>0%1‘$qmqgﬂ14a1éama%waﬂm—aﬂ%.




A: 32
B: 64
C: 128
D: 256
Topic: Mathematics-Section A
Item No: 18
Question
D 100618
Question
Type: MCQ

ST o, B AT y § 1 &7 9&Td H&A1 AR f(x) = ax®+ B3 +yx, x € R M1 g : RHR 54

o g(f(x)) =x, Hd x e RHEI. SR a, ay, a,, ..., a, @ UM FE Aefiet YA =1 7L YA FHA
Question:

1 n
W f g[nzf(af)} AqE e sm
i=1
A:
B: 3
C:
D: 7
Topic: Mathematics-Section A
Item No: 19
Question
D- 100619
Question
Type: MCQ
2
ay, Ay Ay, .. A HIHFE fa=GR FU S/ ®T a; =1, a, = 2 AN agn=—"+a,,
An41
1 1 1 1

Question: Rut — || By | | BT | | BerTg s o

n=1,23, ... 981 X 2 | B b 4 ~-«-—31=2a( C31),T'Ra

ag ay as azp

R 3R,

A: — 30




B: —a1
C: — 60
D: —61
Topic: Mathematics-Section A
Item No: 20
Question
D- 100620
Question
Type: MCQ
X
Question: | 3rTaT faskera w@ f(x)=[e* " f(dt—(x*—x+1)e’ , x e RATFA T @
0
2
A: e
Je
B: —~2ife
C: _.JE
2
D: —
Je
Topic: Mathematics-Section B
Item No: 21
Question
D- 100621
Ques.tion Numeric Answer
Type:
HHS S B | Hehavreaidl (passwords) | 3® SN HR d 33 Furi=a1 (characters) AT 3R,
Question: 9 TSk U1 B Tk K |A, B, C, D, B} IHA Wk FuiHTen foha {1, 2, 3, 4, 5) IRIH Ueh H&AT 341
| R, A FUTE YAE el A ST, SR S A S U 99 T {1, 2, 3, 4, 5} UH U
& SR S = Gohavlegi=l T&A o x 50 3, T o TR 1.
Topic: Mathematics-Section B
Item No: 22
Question 100622

ID:




Question

Numeric Answer

Type:
56 43 111 .
S P(—2, —1,1) 3010 Q S & PRQS 1 994 A foRifag smed. s foaeruf
Question: y ) _
RS ¥ oo UM o, —1, B 3R, Teal ST o 3T B ¥ FoFA et Jedi= quiies 374, T o2+p2
ERCE HR.
Topic: Mathematics-Section B
Item No: 23
Question
D- 100623
?ues.tion Numeric Answer
ype:
ST £: [0, 1] = R & (0, 1) &4 SFQl fasher-ia %el 378 59 @i f(0) =3 300 f(1) = 5. N
Question: | iy = 2x+3 B YT f =41 AeA@redl (0, 1) HE4 Fekd Q4 T4 foigd wed 18a @ f"(x) = 0 SFAFAH
x e (0, 1) Tege o=@ gem .
Topic: Mathematics-Section B
Item No: 24
Question
D- 100624
_?;pees:tion Numeric Answer
v3 1523 ; .
R I dx=av2 +B+/3 , S o, p UM 3Rd, T o +p TEK
Question: 0 \/1 +12 4+ (1+x2)3
R,
Topic: Mathematics-Section B
Item No: 25
Question
D- 100625
_?;pees:tion Numeric Answer
1 -1 1 2 2
ST A=[2 . } s B=E’ 0},.:1, BeR. A o) € o & e ST (purla)zaaxz{2 2}
Question:

< FHEH FA A @, B o F Hed TG (A+B)2 = B2 F FHHF F. T |y —ap| T
AT,




Topic:

Mathematics-Section B

Item No: 26
Question
D: 100626
_Crl;pees:tion Numeric Answer
p, q € R HME, aFGd 4¢3 %l f(x) = (x—p)2—q, x e R 3700 g > 0 =1 fa=R 0. T91 a,, a,, a,
Question: | 3707, & TIUR Sl HEA ST = HEA p 3TV & THM S SEORT FET 3R, W | f(a;)|=500
Hai=1,2,3,4 H&l, ® f{x) = 0 <A1 Y3l AHflel hadl 3R,
Topic: Mathematics-Section B
Item No: 27
Question ID: 100627
_?;pees:tion Numeric Answer
x2 yZ
Y H:x2—y2 =1 A fogq E: — +=5=1,a> b >0 T, HHS
‘ a b
(1) E =t Schadl & H = Schgd= 7% 118 S
Question:
5
(2) y=\/;x+1< 21 {1 E 310 H = §HE s S 3.
T 4(a2+b?) = 3R,
Topic: Mathematics-Section B
Item No: 28
Question
D: 100628
?;pe;tion Numeric Answer
1
TS 2, Xy, X3, -y Xpg © [T HET HEA ST g = 3 ST HAF TR = . Tk Tl Aresdt
Question:

(data) TR el TAHEA (x,—i)> R Fodeh x, I8eTed 3Med. S x § el WU 767 ST T
x UeT @er foher IR ST WewH Ui 3.

Topic:

Mathematics-Section B




Iltem No: 29
Question ID: | 100629
%Jpees:tion Numeric Answer
100
Question: im (x+2cos Af)3 +2(x+2cosx)? +3sin(x+2cosx) | ¥ eq|%
x>0 (x+2)> +2(x+2)2 +3sin(x +2) o
Topic: Mathematics-Section B
Iltem No: 30
Question
D: 100630
Question .
Type: Numeric Answer
Question: o , 3x2-9x +17 _ 5x%—7x+19
x T AR A R T, WG 2 T 5 2 sy qn (S
Topic: Physics-Section A
Item No: 31
Question ID: | 100631
Question
Type: MCQ
BZ
Question: — | = et IS, (T, {6 AERONGS qrfdl B Farhia &)
)
A [M L2T~2]
B: [MLT-2
c: ML-1T-2
D: MI2T-2A°Y]
Topic: Physics-Section A
Item No: 32
Question 100632
Question

Type: MCQ




A=A FrErES 9 km/h TH T9F IS THH We S92, FeEER 19.6 m IR T qrhe

Question: .
(e =8 g=9.8 m/s?)
A: 5m
B: 10 m
C: 19.8 m
D: 245 m
Topic: Physics-Section A
Iltem No: 33
Questi
ID‘fes 'oN 1100633
Questi
T;lpees on MCQ
T ATETEA YAIME, 5 kg SAMAMNET 25 ms— ! =&A SOM w fidten emoed & frew g
Question: | (i) 3 ¥ehard (i) 5 Hehard STHH
WSUH A T e
A SIE1 STeTTd, e Shrdl TN e 5@ 9 ST e ST,
B: TS SIe! dTeldid SETd 378 U0 9Uad 90 97 379 .
C: TUEd 9@ G2l aedid Qe S 901 3767 a7 9.
D: T 9@ 9 TR a2l dradid afed AT .
Topic: Physics-Section A
Item No: 34
Question | 400634
Questi
T;pees on MCQ
Question: B Tehl FrA SgHM 10 g 378, BT 4.5 cm/ s Tae THEHH S0 a1 aed Ted 3. STET
" | 5 Hehard qofat ST B T T FrAeR w w690 3@, (SEmE)
A: 3
B: g




C: 12

D: 18
Topic: Physics-Section A
Iltem No: 35
Question
D- 100635
Question
Type: MCQ
Question: SR geat= e 2% A HHi B Sieel SEgE GHe R, G QEIRTeR Teferd R
TS,
A: 2% = HHI
B: 4% = FH
C: 2% H deoH
D: 4% = FETHA
Topic: Physics-Section A
Iltem No: 36
Question ID: | 100636
Question
Type: MCQ
vest 1 cm? FEST G dR N[ fa=t Siel S92 TAEE SO 99
uestion:
(e a® Y=2x10!1 N/m?)
A: 1x107 N
B: 1.5x107 N
C: 2x107 N
D: 25x107 N
Topic: Physics-Section A
ltem No: 37

%‘feSt'O” 100637

Question
Type: MCQ




TS ATUFETE FEGTA 50% e, SR Her araaH 40°C 3 FHT o, HEwdr 30% Jed. ISTHr

Question: e
A 166.7 K
B: 250,11
C: 266.7 K
D: LI K
Topic: Physics-Section A
Iltem No: 38
Questi
ID‘feS 'o" 1100638
Questi
T;Ipees: on MCQ
et g faum fodt a1
faum 1: a7ey arg= TH=de TET 9O AT aaHETer SEedd AR,
Question: | faum I1: @i sAferdisT Y= 71 /1% e 910 o 376, SR AM9AN SHUe o d SATeisH HE
e 3To[neR foreron e, arHe aviyes = 20 2.
Fite faumr=n Hevlq, @ feesen wafaiqs amra 39T .
A; faur 1 safor faem 11 S @Y a1eq.
B: faum 1 afor faum 11 St @t TR,
C: e I s'eR 21 91 faum 11 @re o1
D: faum 1 9w 318 91 faum 11 & 3TR.
Topic: Physics-Section A
Iltem No: 39
Question ID: 100639

Question Type: | MCQ

T2 THTHTOM

Question: y =05 sinzTTr (400 t — x) m
T B .

A: 200 m/s




B: 20042 m/s

C: 400 m/s

D: 40042 m/s

Topic: Physics-Section A

Iltem No: 40

Question

D: 100640

Question

Type: MCQ

Question: TH HIE, Yl 40 pF ¥ahd=l THEd Sreat oaed. T Hafamdie s K qafasd sie ssee
| AT RS AR, SR W Hed el WHged Uiehdl 24 wF ke, K 9 7 .

A: 1.5

B: 25

C: 1.2

D: 3

Topic: Physics-Section A

Item No: 41

Question

D- 100641

Question

Type: MCQ

Question: R Tl A ST 371@e! 379f <l Yed Seli=a Qrudl- s, Feft- T ez el s 7ot
| e

A: 9:1

B: 1:9

C: 4:1

D: 3l

Topic: Physics-Section A

Item No: 42

Question ID: 100642

Question Type: | MCQ




TesgMHIE= 9 Hafedl Fretadl J5o.
(A) &A= #F HH HEA
Question: (B) : 5?5[
(C) Feor g% HHl FHEd
(D) e e feeriss sl e
@t feoean s g 3R Hae
A: (B)a (C) %®
B: (C) & (D) %
C: (A) 3 (C) b
D: (B) @ (D) %%
Topic: Physics-Section A
Iltem No: 43
uestion | 190643
Questi
T}llJpeeS: on MCQ
eI SRATTATIHTO, T 51741 0.45 kg m~ ! srqee fafasmewiatsit 45° =mehl= showedl T eid SAd
yaera fafasramiat ot 1R, df fer Woarardt e areoml st FHH 41, Sreel &r=Arer 3w fagd
FE TR 0.15 T goata &5 o, i
Question: P g 10 m/sz]
B 4 21 Ea
45° 11
A: 30 A
B: 15 A
C: 10 A
D: 3A
Topic: Physics-Section A

Iltem No:

44




Question | 100644
Questi
T;pe; ion MCQ

Y& SRa 9Ruerdie o= THiE 5 sin(49 wt— 30°) 3R, S’ 9@ 30 mH 1% ® Sfaddie seeds

HHIHI S,
Question:

22

{Let‘n‘ = ?} o= a2
A 1.47 sin(49 wt—30°)
B: 1.47 sin(49 wt+60°)
c: 23.1 sin(49 wt—30°)
D: 23.1 sin(49 wt+60°)
Topic: Physics-Section A
Item No: 45

Question ID: 100645

Question Type: | MCQ

eI ST S HIEAHIA STel TSl FehIem= =S v, Y.
(5o am€ c=3x108 ms1)

Question: Air |Medium 1 |Medium 2
M= 1 My = 1
e.=4 €=9
> > =
C Vl V2
A: 1.0x 108 ms-!
B: 0.5%108 ms-1
C: 1.5% 108 mg-1
D: 3.0x10% ms-1
Topic: Physics-Section A
Iltem No: 46
Question

100646

ID:




Question

Type: MCQ
Question: WA SIS SLeeara! aeqfy a Afaer arde 3fat 30 cm 7. Fregfdmm= sfia et
| e, SieE geEiE FifE fanre 2 SR
A: 20 cm
B: 30 cm
C: 10 cm
D: 15 cm
Topic: Physics-Section A
Item No: 47
Question
D- 100647
Question
Type: MCQ
THE A = 1'227nm%s@a§ﬁa°r@°r. SRS TS SNVATAIST ST9RAT 950 A1 YHTHIONE. X .
X
Y m =T FTIHH

Question: " ;

P = g =41 T

K = gosaei==it Tfast el

V = 3oaR[ae Seedsd @ifvh favd
A vmK
B: \fﬁ
C: JK
D: T A
Topic: Physics-Section A
Item No: 48
Question
D- 100648
Question MCQ

Type:




Question: | TFCOCERY wererf=n 21t Srget =hres 60 feer o11e. Hes TegrTr= gﬁmm%@a%
T,
A: 120 fea=
B: 130 feaa
C: 180 feag
D: 20 fe=g
Topic: Physics-Section A
Item No: 49
Question ID: 100649
Question Type: | MCQ
Question: T feerea SRR HrEere afres] SR s siea.
IJ.
A:
V
I.
B 2 J }V
I
C:
Vv
I L
: ya
( \%




Topic: Physics-Section A
Item No: 50
Question ID: 100650
Question Type: | MCQ
Question: T AT Tt 2Tevarardl srafiad i g UIfEs,
A L= 1
B: w =1
C: =2
D: W= 0
Topic: Physics-Section B
Item No: 51
Question ID: | 100651
?ues.tion Numeric Answer
ype:
) A A A A A A
Question: | 27 +4j — 2k I< 94901 i + 2 + ak I 3E. W a = G4 I,
Topic: Physics-Section B
Item No: 52
Question | 490652
Question .
Type: Numeric Answer
2 A 30 fafFe 21 g TUoel T TaR hodl TRt SETH JAiad Udes! 3T ed STl
Question: | 64 92 digd= YRUT 9TeX 2ZTehd. SSTHERISR G d HI0AHE! T Tcal SHHld HHl de
T 7.
Topic: Physics-Section B
Item No: 53
Qgestion 100653
ID:
Question

Type:

Numeric Answer




FT=AT S Wi =A1 FANd, STeal 560 nm @ TRl SAfTH0 Ffaed T H3d S9 7.2 mm Hd AHSA

Question: | TTEMIIS Y FeEl TR, ST THU FehT¥ AIE sAfdehol Ifded TaR A, S 8.1 mm 3 THeeA
Topic: Physics-Section B
Item No: 54
Question
D: 100654
Que§tion Numeric Answer
Type:
, LCR 9ftqerdies aiaar Sieel &R 3T &A1 HewH Hoar=al L w2 o 212 rad 51 afn

Question: 2

232 rad s~ L. ftgerdte 94 R=5 Q. 1R, gRuardie weufiad mH 3R,
Topic: Physics-Section B
Item No: 55
Question
D: 100655
?ues.tion Numeric Answer

ype:

et grafaeargqrd 20 Q U 300 cm A&t TqSS fava Ardr=t ar Jur=n @y 9 4V fagamms

@ TS THI0 T Sed! 2T,

RigeTd STeeed QU= @R ‘R’ T4 20 mV @Rl 9 &g 60 cm 3 e, ‘R =9 77 -

Q TR,
Question: 4V R
| —)—RB}
A B
- ©
20 mV

Topic: Physics-Section B
Item No: 56
Question
D: 100656
Question

Type:

Numeric Answer




5 faem fgya soi= emgol 3@ 1.2%x 10739 Cm 9 2.4 % 10730 Cm 2% @ €9 97T THaHH faga
&3l T PRH 5 X 102 NC-19 15 x 104 NC- 1 arerg, 1605ed™ 390 27ed. foRd g Avase qear

Question:
ST TORR L o, x ¥ ged o,
X
Topic: Physics-Section B
Item No: 57
Question
D: 100657
?ues.tion Numeric Answer
ype:
gfaeaHret aRard Hz 3@ S 320 Hz Iiard=a1 {38! arstad srmel 36 km/hr S
Question: | TIfqHA 3T F o <helehe WA AR, SATIRA ULl SIS Joad U @l Badie L=l o
330 m/s 3.
Topic: Physics-Section B
Item No: 58
Question
D 100658
Question .
Type: Numeric Answer
_ 2 mm A 8= B 1750 kg m3 S gaa feradr 0.35 cms ! S SR ¥4 e, garen
Question: : . .
fereifean o= poise 3. (TS Td1 0T 2TR)
Topic: Physics-Section B
Item No: 59
Question
D: 100659
1Q_ue§tion Numeric Answer
ype:
‘m’ IEHEMATE] 3l (SATHdd Srafaeargd ) E fast e faHe 319 fEier 25 em * Aate) gt
L, Siegl Tt = o1H weret 3Ed . W@iua famen fam ferie 969 nE Nm- ! 3180 ™
n=___
Question:
uestion _E
m
Smooth surface
Topic: Physics-Section B




Iltem No: 60
Question | 490660
_?ues.tion Numeric Answer
ype:
IR THAREA FaHed Fesh! ‘M’ SEAMET=Al ‘o’ SAEr=A1 Aievia fEdid qrafdedr sled. SR Hedrd
00" T e et EMaZ . T x A YA .
TO
Question:
10
Topic: Chemistry-Section A
Item No: 61
Question ID: 100661
Questi
T;Jpees: on MCQ
Question: QAU gahra faum siesan,
A FETVTETE Fehid T AT SOa (il T digtd 3Affee 379 Haiedm.
B: SUAHIS Teh IoFe TETHS () US| Hiehl 8
C: TASSHA AUTHThHes alel Hifee=al SIS IRl fHel.
D: SIS iR A Wb n S0 1 SHieH SiRMesd T TSR 2.
Topic: Chemistry-Section A

Iltem No:

62




Question ID: 100662

Question Type: | MCQ

Question: WIS HI0TT Helel SIS el 7

A: AH = AU-PAV

B: AU = q+W

C: .ﬂ.SS},S %+ &Ssurr =0

D: AG=AH-TAS

Topic: Chemistry-Section A

Item No: 63

Question 1 100663

_?;pees:tion MCQ
A - 1A - I ST e

a1 I - 11

(A) Cd(s) + 2Ni(OH)3(s) = CdO(s) + 2Ni(OH),(s) + H,O(1) (I) mefeR =2

Question: | (B) Zn(Hg) + HgO(s) = ZnO(s) + Hg(l) (I) =M Her=i fauyron
(C) 2PbSOy4(s) + 2H,0(1) = Pb(s) + PbO5(s) + 2H,SO4(aq) (III) G o
(D)  ZHa(g) + Oa(g) = 2H0O() (IV) S79 ST gy
TS AEme sier W e

A: (A) - (), (B) - (1), (©) - (LII), (D) - (IV)

B: (A) - (IV), (B) - (1), (©) - (1), (D) - (IIT)

C: (A) - (D), (B) - (), (©) - (IV), (D) - (III)

D: (A) - (1), (B) - (), (©) - (1II), (D) - (IV)

Topic: Chemistry-Section A

Item No: 64

Question ID: | 100664

Question MCQ

Type:




AR - 1R - I e el

RIS | TS - 11
aafufepan EECT
(A) 4NHj(g) + 50,(g) = 4NO(g) + 6H,O(g) ()  NO(g)
Question: (B) Ns(g) + 3H>(g) = 2NHj3(g) (II) H,S50,(I)
(C€)  CipHnOqq(aq) + HyO(l) - CgH 1504 + CeH 1304 (IIT) Pi(s)
RIS PR
(D)  250;(g) + O2(g) — 2503(g) ) (IV) Fe(s)
TS FAEME se 3w Hae
A: (A) - (1), (B) - (1), (C) - (I), (D) - (IV)
B: (A) - (IT), (B) - (I1), (C) - (I), (D) - (IV)
C: (A) - (IID), (B) - (IV), (C) - (1), (D) - (D)
D: (A) - (IIT), (B) - (I1), (C) - (IV), (D) - (I)
Topic: Chemistry-Section A
Iltem No: 65
Question 100665
%Jpees:tion MCQ
QIAGYHR HIA SStie Jogaaidl soa @14 Jui 3 Saesides HRE fohal arE aw.
(A) Rb 30 Cs
Ouestion: (B) Na 3o K
uestion: (C) Ar Eﬂl’ﬁj[ Kr
(D) I 37for At
oo TEEmyE sie 3| Hae
A (A) =7for (B) W
B: (B) 30T (C) &b




C: (A) &7fo1 (C) *eh

D: (C) =10 (D) %
Topic: Chemistry-Section A
Item No: 66

Question ID: 100666

Question Type: | MCQ

Question: | TR TSR €Y LIgepT=AT HeaTd Sf5eam UgdIae! SUTw 311e ?
A: 2CII2S + 302 %2‘:'[120' + 2802

B: Fe;0, + CO — 3FeO + CO,

c: Al,O5 + 2NaOH + 3H,0O — 2Na[AI(OH),]

D: Al,O53 + 6Mg — 6MgO + 4Al

Topic: Chemistry-Section A

Item No: 67

Question ID: 100667

Question Type: | MCQ

Question: | SFATHH=A TG SIS qIUFT=A] Hg HIUAM 1 €T &R TAR Bl o ST,
A Ca(OH), 70T Mg(OH),

B: CaCO, =1for Mg(OH),

c: Ca(OH), #01 MgCO,

D: CaCO, 3o MgCO,

Topic: Chemistry-Section A

Item No: 68

Question ID: 100668

Question Type: | MCQ

Question:

e A 7,




A LiF 909Td ShHi fateresd R = ol el @ar o1
B: KO, HHYshiT 318
C: HifeT e ga UG STav dieshdl qrga.
D: Hifssm HIg=l sar Qe Ugian S S
Topic: Chemistry-Section A
Iltem No: 69
Question ID: 100669
Question Type: | MCQ
IR - 1A - 11 SRR oo,
et - 1 RIBI |
(A)  (NH,),Cr,0, —2 O H,
Question: (B) KMnO4 + HCl — (II) N,
(C) Al+ NaOH + H,O — (III) O,
(D) NaNO; —2— (V) Cl,
TAe TEMYA s’eR W fHael.
. (A) - (I1), (B) - (I, (C) - (I, (D) - (IV)
B: (A) - (), (B) - (I), (©) - (IV), (D) - (1)
C: (A) - (1D, (B) - IV), (©) - (D), (D) - (11)
D: (A) - (), (B) - (IV), (©) - (I), (D) - (1)
Topic: Chemistry-Section A
Item No: 70
Question ID: | 100670
_?;pees:tion MCQ
Question: | WTSIBYI V= WSl ARG H, FTaI0T shavar=i yeeil esard el 3R ?




A: Cu

B: Mn

C: N1

D: n

Topic: Chemistry-Section A

Iltem No: 71

Question ID: | 100671

_?;pees:tion MCQ
Tret gH faum o a1

ouestion: | AT L: i W T feescen et 9 BOD = fohwdl Wi S

M I PR TS e SRS FE FE ah

S faemr=a YehTend sder ST wIiE fHaen

A et faem 1 enfor faem 11 =7 e1Ra.

B: e faeam 1 enfor fasm 11 @Rt e,

c: faem 1@ o112 faum 11 @R 3R,

D: faum 1 @R st fagm 11 & 1R,

Topic: Chemistry-Section A

Iltem No: 72

Question ID: 100672

Question Type: | MCQ




T - 1 RIS
(A) Q (D SR
Question: (B) >®< (H) v W
(C) >< (1) srEacta faumeet 93
(D) @ (Iv) fgae=dt |@gu
TS FHAmEA sER 3 e
A (A) - @, () - (), (© - (IV), (D) - (1)
3 (A) - (IV), (B) - (1), (O) - (1), (D) - (1)
C: (A) - (1), (B) - (IV), (©) - (1), (D) - (1)
o (A) - (IV), (B) - (1D, (O) - (11), (D) - ()
Topic: Chemistry-Section A
Item No: 73
Question ID: 100673
Question Type: | MCQ
wote AffFIEE ser vy fHeen
T Hg(OAc),, H,0
uestion: C)as
e B2 = H,C-C-CH=CH, ——2 2", A
H,0,/OH | NaBH,

CH,




A ‘A’ 37T ‘B’ B Sl AThifeR e I Scarg STed

B: ‘A’ § HIEHIFTRE S8 T8 B’ ¥ SIAHERITRT S 3T
c: ‘A 3TIfO ‘B ¥ Sl STSHTRIfERIE SeUrg 3TRd

D: ‘B’ § HIhITehI%h 3c1E 378 T ‘A’ § TRt cq1g 378
Topic: Chemistry-Section A

Iltem No: 74

Question ID: 100674

Question Type: | MCQ

Question: WS HIh hosedl WSTHUh! Teeald HHI pK, oo hIvT 31e 2

H

A: |
H,C— COOH

H O

B: ||
H
C

C: HE'

(@)

S

Topic: Chemistry-Section A




Item No: 75
Question ID: 100675
Question Type: | MCQ
e AfufsFa=a JEedd Ta R J9E 39e A 101 B Hieal.
7
Y CHL.CHEH.; AlC]
8 o, 3 3 3 Na,Cry0,/H,S0,
Question: ? > P » A
(3)H , H,0 .
Br, in C5,
OH OH
A: 3?[‘&"[
Br
'0) OH
B: aTfor




0O OH
Br Br
aqrfor
O Br

C:
OH
OH By o
D:
arfor
Br
Topic: Chemistry-Section A
Iltem No: 76
Question ID: 100676
Question MCQ
Type:
ol feoea sgomre! sk faum el
. C,H-ONa
Question: 2-7h
CH,-CH,-CH,-CH-CH,—————>A + B
3 2 2 3
| GHO0H (smm) (%)
®N(CH,),
A: A - CH;CH,CH=CH —CH,, B - CH,CH,CH,CH = CH,, 4% 34K

A - CH,CH,CH=CH —CHj,, B - CH,CH,CH,CH = CH,, EHH¥ 315




c: A - CH,CH,CH,CH =CH,, B - CH,CH,CH = CHCH,, &FH" 31

D: A - CH,CH,CH,CH =CH,, B - CH,CH,CH = CHCH,, 425 315
Topic: Chemistry-Section A
Item No: 77

Question ID: 100677

Question Type: | MCQ

Queston: | S agaieR & ———- =1 oA THegerdr 4.

A 39 -1, 2-SHT® 3T S5 -1, 3 SHGENRIfch 3T
B: U -1, 2-BATe M0 &3 -1, 4 SHFEITRIGH 3D
c: 39 -1, 2-SMAT® 0T oEiH -1, 4 SHREIFI(GH TS
D: 39M-1, 2-SHi@ A 95iH-1, 2 SHFEIFEGH S
Topic: Chemistry-Section A

Item No: 78

Question ID: 100678

Question Type: | MCQ

Tl feose g gHieifaes (X) 9 seR IS T 3T,

HO—?—H
HO-C-H O

|
Question: H-C-0OH




i
®
|

OH
A: OH
HO |
OH
HO =i
OH
B: OH
HO |
OH
HO ]
C: OH >
HO | OH
OH
HO =
HO OH
D: OH
OH
Topic: Chemistry-Section A
Iltem No: 79
Question ID: 100679

Question Type:

MCQ




Qe fae Tuek sirouigs faum feod smeq.
(A)  Touf FO g Taul T HOM YU g e
(B) d foRrameites T smfur sfeieedl TAMiat &% shidm.

st (C) e YoM Sive sfereedt TIM &g SRl sive o1,
(D) el 7 Sond siiwe framie M de FIomT sivs emed
WS THEHYT Weodld 9rg I e
& (A), (D) B
B: (A), (C) b
C: (A), (B) b
D: (A), (B), (C) ™
Topic: Chemistry-Section A
Item No: 80
Question ID: | 100680
_?;pees:tion MCQ
QSN TIHAST SESES AEAEA H,O, sieiie s Tiast Sw2mamde
(A) TEHE TS Saee WIEY ZEv ST,
(B) eHa Hifedw umEethe SIEvT Hada KI =41 STavTiet el 3.
Question: | (C) Tea1 {01 fequanetEi= dreredrs e Hieal.
(D) Tea1 1 feueaHa &g de gl
(E) e Hifea™ JErethe o= Hed KI =1 gremmiel S S,
feoen v 9 O 3T 9
A (A), (B), (C) %
B: (A), (D), (E) b
C: (D), (E) T<h
D: (A), (B), (E) b




Topic:

Chemistry-Section B

Item No: 81
Question
D: 100681
1Q_ue§tion Numeric Answer
ype:
feoem sifufwaaEt
X + Y + 3Z SXYZ,
Question: .
uestion: 1 0,05 /i Z & X MfUr Y =01 YAl Uk Hiequd feos XYZ, g0 9% . XYZ, =i 9l
g R (Sl Yulihrd)
(feess o112« 319] S X, Y 3101 Z SFshH 10, 20 3707 30 amu 37TE4.)
Topic: Chemistry-Section B
Item No: 82
Question
D: 100682
1Q_ue§tion Numeric Answer
ype:
Hoged M o HeiH @sl 300 pm AT SHaLhied TR ST Thelshhio 2Id. Jogeardt
Question: | Al 6.0 g cm 3 3. 180 g YPeoAW FHoeAl U= & x 108 AR,
(STErez=A1 quiteRrd)
Topic: Chemistry-Section B
Item No: 83
Question ID: 100683

Question Type: | Numeric Answer

Question:
By, Liy, Cy, C;,02~,0; o1 He,
Topic: Chemistry-Section B
Item No: 84
Question ID: | 100684
Question

Type:

Numeric Answer




150 g 3T 3 10.2 g 3Ehifaieh 3T (C HgO,) Th IS hed STl Ma3vieh (x x 10~ 1)°C

Question: | AT Bl x = oA 3 . (S QUi ) (fooes st I%=3.9 K kg mol—1)
(feoses oTe Tads a%gAM SThifs® 3@ = 176 g mol 1 )
Topic: Chemistry-Section B
Item No: 85
Question
D- 100685
_?;pees:tion Numeric Answer
i ARl (C,H,COOH) K, & 2x 105 3@, 0.2 M 42tk 3= pH
Question: | x 10~ 1. (SiFez=a1 quifehrd )
[feoe 8Te log 2 = 0.30]
Topic: Chemistry-Section B
Item No: 86
Question
D 100686
_Crlue§tion Numeric Answer
ype:
e o = sty
. A—>B
Question: X . X
SIS 0.3010 min 3T, ATTRTOT=A AT = Haaare =4 2.0 min FaCeA1 Heaei o
Tdh 3. (Sacd=a1 Yuiiehrd)
Topic: Chemistry-Section B
Item No: 87
Question ID: | 100687
?ues.tion Numeric Answer
ype:
Question:
CIF,, IF,, BrF;, BrF,, L,Cl,, IF,, CIF, CIF;
Topic: Chemistry-Section B
Item No: 88
Question 100688

ID:




Question

Numeric Answer

Type:
AFFH] HISFHIAIG MnO32~ =41 STHHEUIAUNG Hifsr=l g H1 A 701 B TR Fdid. s

Question: | Frfsr=it B Heffe siffome feordt A Yan &t 3189@ W B WiE! T T Gakia U Ted

BM 3. (Sfacse qomiehTd )

Topic: Chemistry-Section B

Iltem No: 89

Question

D: 100689

Que§tion Numeric Answer

Type:

Question: | ST T ST e U SEfAdE [Cu(en),(SCN),] SIEIATEET FHESET THI HEAT
o 3Te.

Topic: Chemistry-Section B

Iltem No: a0

Question ID: | 100690

_?;pees:tion Numeric Answer

Question: | C H ST O STUIT 0.492 g a1 = YO ST o3 AT 0.7938 g CO, 31107 0.4428 g

H,0 TR B[, Hdie sifeasm = % Jam TR,




